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20158 S0a =ZMd SEH HAH
AN dot=SAFE A
Ny ZRolAT B2
¢el: ZIot=SAIE 2el(=FEHd SEalH) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Aot S ALY A 9,829,215 10,476,662 ABAT 447
J| 7,202,481
e 2,626,734
3ot 2l 4,384,714 5,277,515 A892,801
Jl| 1,757,980
s 2,626,734
B30t AIE 2l (+EHL S8 H) 4,384,714 5,277,515 A892,801
J| 1,757,980
s 2,626,734
S3ot+=HelAE 29Y 3,401,226 2,951,226 450,000
J| 996,096
s 2,405,130
201 Let249] 166,117 166, 117 0
J| 99,671
s 66,446
01 At 22l 34,861 34,861 0
OJISAY 34,861
— LEt=2H| 34,861,000 34,861
J| 20,917
s 13,944
02 =24l 131,256 131,256 0
OJISAY 131,256
— A€ EHI !Xl 131,256,000 131,256
J| 78,754
s 52,502
202 04 Hl 6,720 6,720 0
J| 4,032
s 2,688
01 = LH 4 di 6,720 6,720 0
OJIs At 6,720
— 335t=HM2AE FZ 6,720,000& 6,720
J| 4,032
s 2,688
307 21201 A 2,300,000 1,950,000 350,000
J| 335,360
s 1,964,640
05 RIZt2IEt = 2,300,000 1,950,000 350,000
OJIS At 2,300,000
S ELFEE T
2,300,000,000& 2,300,000
J| 335,360
s 1,964,640
401 A& HIZ 201 I 910,000 810,000 100,000
J| 546,000
s 364,000




AN dot=SAFE A
Ny ZRolAT B2
¢el: ZIot=SAIE 2el(=FEHd SEalH) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 903,124 805,068 98,056
OJIs A 903,124
— @S BBoLHEAAL BSE HSI D
M (1SET) 29,676,000& 29,676
J| 18,000
2 11,676
~TTESHANL DIATIE FIHN B
20,000, 000 20,000
J| 12,000
2 8,000
— ZZoAHANE SSLAHO L N A
& 99, 100, 000& 99,100
J| 60,000
2 39,100
—ZEstaHANE =Y 24
158,848,000 158,848
J| 96,000
s 62,848
— 33dot=HelAld 7X 2= 49,460,000 49,460
J| 30,000
[ia 19,460
— &g B35t=HMelAE =201 BDHOH)
198,560, 000& 198,560
J| 120,000
s 78,560
—E3dE B3otHMelAd BEX HESE
JI & a2 &XI(6X) 347,480,000 347,480
J| 210,000
s 137,480
03 A& =2 THHI 6,876 4,932 1,944
OJIs A 6,876
— S S3ot=HMeAL BtEaxX HSI| 1
A (1SET) 30,000,000% *1.08/100 324
— S3ot=HelAE SLZAMALE A
& 100,000,000& *0.9/100 900
—BToILHAANE LB/ 24
160,000,000& *0.72/100 1,152
— 330t=HMelAE | B
50,000,000 *1.08/100 540
— g3 B3ot=HMelAld =20 nAO)
200,000,000% *0.72/100 1,440
—SEE S3ot=HMEALE BtEX HESZ
| A2 AXI(6X) 2,520
350,000,000& *0.72/100
403 MtXISHHE A0l & 18,389 18,389 0
J| 11,033
s 7,356
02 3|25 0l CH 8HCH 28 At HI 18,389 18,389 0




SA: ABIAZAIYA
Hm: ZZAE 22
el BROACAIL ol (SENM SEEH) (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ogtadgas sgacldy 29l
18,389, 000& 18,389
J| 11,033
e 7,356
S3ot=HM2AlE 29U ot=5 HHI 150,000 140,000 10,000
401 Al HIZ 201 Y] 150,000 140,000 10,000
01 A& HI 148,380 138,488 9,892
S3ot=XelAlE AU ot=22 FH
49,460,000 49,460
O33dot=HMelAME R ot =4
49,460,000& 49,460
O33dt=XelAld =8I 49,460,000 49,460
03 Al S THHI 1,620 1,512 108
OZEot=XelAld AL ot=22 FHHl
50,000, 000& =1.08/100 540
OZ3ot=HXelAlE 29U ot=& =4
50,000, 000% *1.08/100 540
O335t=HMel Al F=HE|
50,000, 000% *1.08/100 540
= FXJAY 761,884 1,086,445 A 324,561
J| 761,884
101 124l 10,330 11,000 AB70
J| 10,330
4 D12t ZE2XREES 10,330 11,000 AB70
OJI3 A 10,330
g FUNAAY TA U AEBR O
£ 10,330, 000& 10,330
J| 10,330
202 04l 2,220 2,156 64
J| 2,220
01 = LHA YI 2,220 2,156 64
OJIS AL 2,220
—GFEH FUXBAY AEHEA
2,220,000 2,220
J| 2,220
401 Al HIZ 2018 749,334 1,073,289 A 323,955
J| 749,334
01 A& HI 741,241 1,062,913 A 321,672
OJI3 A 741,241
—GFH AEE0 X ALY 741,241
ST FUXNH 424,697,000 424,697
J| 424,697
- 2Bt FOXR 316,544,000 316,544
J| 316,544
03 Al SR THHI 8,093 10,376 N2,283




A dot=Z A A
Hm: ZZAE 22
©e: SBStTAE 22 (EME SE3H) (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OJI3 A 8,093
—HFY Lot=0 X ALY 8,093
ST FUXH
429,334,000& *1.08/100 4,637
| 4,637
- gt =0IXA 320,000,000% *1.08/100 3,456
J| 3,456
Glel bl (St==<) 71,604 1,099,844 A 1,028,240
801 Gl BI8I 71,604 1,099,844 A 1,028,240
01 Etoilgl Bl 71,604 1,099,844 A 1,028,240
Ouuldl bl 71,604,000& 71,604
MPES (Mol AFEA) 5,444,501 5,199,147 245,354
J| 5,444,501
HEHAHXE(=EMNE SE3H) 5,444,501 5,199,147 245,354
J| 5,444,501
LIS HMES 5,444 501 5,199,147 245,354
| 5,444,501
701 JIEISI HSHES 5,444,501 5,199,147 245,354
| 5,444 501
01 JIEtSIHE &S 5,352,501 5,107,227 245,274
OJI3 A 5,352,501
—ZAES Gt=2t FHIAY
1,314,634,000& 1,314,634
| 1,314,634
— JlOtOF2 Gt==2tD1 FHIALY
626,601,000& 626,601
| 626,601
— 83 sHELSot=S ZHIAY
71,827,000& 71,827
| 71,827
— &84 sHEOS6t=S ZHIAY
305,267,000& 305,267
| 305,267
—WE SO E0S0H4EE FHIAY
255,177,000& 255,177
| 255,177
— Y sH=E0tS6ta=S ZHIAS (2&HH)
71,827,000& 71,827
| 71,827
—8F sHEOSo=S ZHIAY
377,094,000& 377,094
| 377,094
—82FI)s sHEONS6t=S FEIA
742,848,000 742,848
| 742,848
—SFIZANE2H 832,464




A dot=Z A A
X ZH - IHD;.LE(
(=R B =2 o

t
Sl WRAHHXS(

SA - ZE-B(EA) - NRAY - B S il &t o il
- EERANE 643,546,000& 643,546
J| 643,546
= MaAlE 188,918,000& 188,918
J| 188,918
— 2 M2AIE D=8t HEAY

278,804,000& 278,804
J| 278,804
— QU =P 141,142
0l & & Dyl 52,250,000& 52,250
J| 52,250
HHEA2Z A4 2LIHEHI 17,642,000 17,642
J| 17,642

3CHH EESE 2l AldHE ~8E24d
71,250,000& 71,250
J| 71,250
—HELEHZ AL 334,816,000& 334,816
J| 334,816

02 SILELIIHNZNEES 92,000 91,920

OIS At 92,000
— &3 BES3Y 2elAY 92,000, 000& 92,000
J| 92,000




